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PART-A (F - 9i2)
For New Course

Q. No. 1 carries 1 mark each (any four) ............ 1x4 =
Q. No. 2 carries 2 marks each (any five)........... 2x5 =10
Q. No. 3 carries 3 marks each (any two ........... 3x2 =
Q. No. 4 carries 6 marks each (any two)........... 6x2 =12
Q. No. 5 carries 8 marks each (any one)........... 8x1 =
Total =40

PART-B (4 - 9%)
For New Course

Q. No. 6 carries 1 mark each (any four) ............ 1x4 =
Q. No. 7 carries 2 marks each (any five)........... 2x5=10
Q. No. 8 carries 8 marks each (any two) ........... 3x9 =
Q. No. 9 carries 6 marks each (any two) ......... L.6x2 =12
Q. No. 10 carries 8 marks each (any one)......... 8x] =
Total =40
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PART-A [ 3-511 /%?—\“urz?t / -SETT
(Intr:oductory Macroeconomics )
(e wdfael 2If[wy )

(et weler < ) |

( oy TrEferty Rty )

1. Give short answers to any four of the following questions :

: 1)(4:—..4

oo, eI B! o 5 B

o3 @~ 51 20 e Saw w2

TR AT SR G o

@ o e e
WWW%@WWW?
W@ﬁ?ﬁi@ﬁﬂa@ﬂ%m@%?
aq{ﬂ@fmﬁﬁwéw@r@mme?
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(%)

(iii)

(v)

What are the two sectors studied in ‘two-sector economy’ ?
ﬁ%ﬁﬁﬁwﬁ%‘aw&w e zﬁ‘fﬂ@aﬁmwwiﬂ?
‘e RMNT SITIfS’a S @ 776 1083 RI SCEw 39 T2
Tt ) T e i R T A G SRR S
SR

Write the full form of FRBM Act, 2003.
FRBM I3, 2009 I 579} ol fo72i |

FREM SIf2d, 3000~48 7~ Fiel el |-
FRBM 3T, 2003 ﬁa:ng‘raar@f%m -'

“Voluntary unemployment can exist in an economy with
full employment equilibrium.” Write whether this statement

is correct or incorrect.

e R SRR SRS 41 SRS L‘}WW Rl A A |
il wa @ ore |

“sief forgfir SIRPIRY SRER U b LTS LRITS (IR UK
e 1 Bt oa a7 8T Tl | .

a1 ForgeeTa TSNS SeTfETel AT a2 HFRise e T ST
<i fifer e &R SfeEmEr A9 TR R
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(v) In which year the Breeton Woods’ Conference of the United

Nations was held 2
2ET R B, SRR (I 5O S0 Txfw o
AT o T’ wfdah (I T SRS et «
am@ﬁ‘ﬁam'aw@qﬁmamwa@ﬁq?
(vi) When the ievel of effective demand is attaineq ?A
A bifenia ¥ (sfonl e =72
A PIfenR B3 4 wiere Rk
WW [CRIRIE TS W A T 2
(vii) NNPgc = NNPyp —

TN jqS NNP = I&F %@ NNP — '

ity ‘
OO oz
fegF1eg ST NNP = 5T SR9@ Nyp _

Goliwi A58 NNP = IS 763 NNP

06 / BCON b

2. Answer any Jfive of the following questions : ; 2%x5=10
©oR [z #ih) e TS ¢
RS (-lea #ii5io eivad S nie ¢
TR SrERESTEr FET Gt REE A
(i) Write two differences between direct tax and indirect tax.
T 9 SNE AT F9 fﬁrvneéﬂﬁm i.
O F9 AL AT S 7o AL @I |
SiFSi ST ST ST G T BT e |
(i) What ao you understand by ‘paradox of thrift’ ?
Trowfier AT qfc:«mﬂ & @il 2
‘oo NACREIT 7o) 00 FI QIR 2
eI RGeS e |1 S ?

(iiij) Write one similarity and one difference between capital goods
and intermediate goods.

SETE] T I SO T 57 A S 957 iy faral |
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i ! : : ; (UUJ What do you understand by devaluation of domestic
ST T AR TS| WO G5 AN 7 G075 oAyl @A | : ~ currency ? Write with an example.

wmmwwﬁwwmmmwm‘

(iv) Explain the concept o

R TR SRETRE T 1 e 2 Snizaeriz |

f ex-ante investr N -
investment. ' _EStment and ex-post WWW e 1 A ? SARAPTR AT |
srepifere R : - . : TRNIR JEmEi EHEE gt 1 givdr ? fafefesi fax
SIS Mol S IR ﬁﬁm‘mmﬂ@wﬁwl | | e
aepifers [t «r o R ' | .
| ok i A ?ﬂ‘ﬂ"-'ﬁ‘{ﬂ?aﬁqm @&l 3. Answer any two of the following questions : - 3%x2=6.

RIEBUCIEIRRCICIR IR I N Gt ro e o
e @WWQWW wold gl 7o) 2 Tes el 8

(v) What are sources of supply of fg i e @*@Wfﬁ? 27T Bed WS ¢
economy ? Teign Currency in an . '

' P TR SraRgsrar @i SHE e el
W%ﬁ”\ﬂkﬂmmwm-tmﬁg ﬁg%? .
: ' (i) In an economy marginal propensity to save is 0.5. What
o wTifore i‘acwfil?{ma CerlaiitaTg @QW% will be the increase in income if there is a new investment
ik of Rs. 600 crores ? '

Tret-el HR T8 TR ety TR : ‘

(), Diffrentiatie, _ W‘ﬁmmtﬂ? SIS 2T 2N H2e @99l 020 0.5 | 9t (F@e 600 (&I 5

etween :
Wi revenue “Xpendityye and 1 Tow R WS [ AR T T BIERIEEE:
: Capita

S SIeTifea =lifSs 7 ekl 251 0.5 | G+t CF6g 600 & S
o R SIFNIOTS O AT T W B T ¢

e TR TSR R e ST et 0.5 18 Semg 600 i 1
mwm%wﬁﬁmw%@l .- e WA Uaf-erre s&at foeift Mem e grfsme 2
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(%)

(iti) .

. (iv)

What is fiscal policy ? Write its two objectives 2 1+#2=3

ST N 52 209 775 Sl fyay |
ATy TS 1 2 99 7168wl (w2l ll
wﬁmﬁmm?éﬁﬁﬁ%’@l

How financial deficits can be red ’
Llced ? EX . i
Plain brief]
b

ﬁ@ﬂﬂﬁm?ﬁ@ﬁaﬁﬁ?ma@wl

In the context of nationa] inco
concept of planned and unpl

me accoﬁnti
! an
with a hypothetical example. | g sichan

€ in ; .
N inventories

ST SR 9114 0TS 57} s

amcnwﬁﬁv?mwﬁwm@ 5

i :
TRy, O ST
mﬂwwmmmﬁﬁmﬁ

4izell @5 P Sutzze “Tﬂm m”' qui%,\._) R ol L

8, analyse the

4. Answer any two of the following questions :

oo [zl F5 2R B il ¢

T F-CPICa G 2ATHR T TG &

eI SrRgsrEr A A T

(1) What is balance of payment ? Explain its components.
' 1+5=6
ARl Tl & 2 2319 BAMPTIR I 1 |
AT 77! 1 2 G AW TI1 <FCl |
T GEFTE T 2 A SEERE! s |
(ii) Explain the process of credit creation by commercial banks.
What is money multiplier ? | 5+1=6
iR s 2 78 aifEm i 41 |yl eiF e
iy icaEa W e aAfe T 1 A @ Fi o
Wit W ' SeR SRisAEE it sde | 1 @ s A2
96 / ECON L Contd.
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(i) What is aggregate demand ? Write about itg com
| : : ponents

1+5=6
AR SR & 2 St R oy
SR bl 7 @ ST e g
vr@ﬁqmm?érﬁaq@rﬁmml |
(iv) Is GDP an indicator of welf; :
answer. Erarc.iotia natlon ? Justify your
GDP mﬂwwqaﬁmﬁm?mwmﬁ |
SISO s=piE |
GDP % <o mwﬁm?{mmﬁ :
SO 1R

S. - Answer any one of the following questi
' ‘ Sliong

o4 RicAITAr bY e Oe firzy ‘ - 8x1=8

TR (P 15 208 Taq g »

TR SRS By Gty & a»
(i) What is va_lue addition ? Explaj
Of.CalCulatlng national inCO aln the Va-lue..
this method, i Write addeq method

) :
P Tant merit of

96 / ECON | [10] 1+6+1=8

T ARG 52 SIS SR eI o NG #HwS Jl 1 <
oiRos <51 T R Bl

o FRCANGA 12 QISR SR AR 0 FALCINE AR 1 FC | 92

Amfod G el JEEl T |

SO eI | 7 BHSTIR T T T S8 TSR
eIl S | F SEE H AR W e

(i) Write about the quantitative and qualitative measures used

by the central bank to regulate money Supply inan economy.

T (R SIS TR ol R SRR i 1 AR
S @oRIbT SNfRaPTE fEe o)

STIOT JHE CETlolA g S & (PRI IS TR ARz ADRIS
3R ORI ARTATICRA REC Al |

STRY TSR SR GARHRA Hie fom |
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(i) Explain the Worki'ng of investment multiplier with exampl |
. p e'

What is backward working of investment multiplier ?
7+1=8

Rl e St WWWWWIT%@W:;T o

[ERINSE: , |

FRftIe! eelms el Srresesrg g1 2oy | RFTIe) ez

o e | .
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PART-B / 4-9ic4 / 9-ie1 / T-alari
(Indian Economic Developmént )
(©IToT P — )
(SIS AT G ) |
| ( $RASIR T FTEr )
6. Give short answer to any four of the following questions :
: 1x4=4
oot ATt oA e v e A ¢
Bl [Cx| m—@mmﬁmv‘f%@@@m@ 3
TerERT SrERawrET @e SHE GE ﬁmm’r :

(i) What is ‘marketable surplus’ in the context of agricultural
production ? ‘

T Tesfivera cwas Ry 0qe’ [
R SeslE CF0E Reracany Tga 12
e fegT Tl S  wEAEE SEer’ 91 qy 2
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TR
(i) - Write the full form of NCERT. GTEH (TR ﬁw@ s Rl @oael /wﬁmﬁiﬁ/mﬁﬁs

NCERT 3 57 vt feyat | T & | (g fawal FE )
NCERT-8 7} 771 (=7l | . T YR FerireTan ST S TeTe &R/ e fermm /=i a arei
NCERT-M 311 me@! fer | & :
(v) What is India’s ranking in terms of Human Development
Which Indi
(iii) ich Indian company bought the Enghsh tea Index, 2023-24 ?
Tetley’ in 2000 ? Company '
| ‘ | | 2023-24 © S ST I (S SRS e
PG SRS AN 2000 57 Zemen 4 - ' '
(55T 7 wRfEe? (T “Tetley , . - |
2023-24-9 I THI FoCFI (F(d ORI ZH F© ?
W WZOOOW?&mam . or 2023-24 m@?ﬁﬂ]ﬂ]ﬂ TR SRIEIEREGIEESIEEIE Rz
T IR 2 "Tetley (552 \

(vi) Agriculture/Industry/Services sector is the largest

i@rugﬁ contributor to the National Income of India at present.
(3=l et 2 Al FEE ‘Tetl ey (Choose the correct option)
(iv) The owner of a saloon jg a regular g1 TS TS SR SO S e FR /Gyl / ORI 193 74T g9
casual wage labourer alal-led/ elf- |
(Choos cmployed/ QR | (o [esy [ra #1)
€the Correct ontion) :
QA (beJg K Baas e Z%\‘cg{ﬁﬁm s
Rere JE AN SRCST TSR WA FR/F6l/ G woesss wifees o=
TR (AR s | |
o _ ACACR | _ (=% Rewls (R S)
Resr Rore 1)
96 / ECON _ [14]
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STRrEE THE 9RAH ; o : . i) Classify the following int e ble ahd non-renewabl
TS emafay W/ﬂﬁﬁ?/mﬁq’m S (ii) assify the g . o renewable wable
= 3 ‘Tesources .
TS THAICEIRS 72 AN S SISl T (Rl Ree 1 ¢
. Ans f : - ‘
7 Answer any ﬁve of the fOllOWlng que_StIOIlS X =S | o i ﬁtﬁ[—@@ﬁw W IRIRIROGER W‘“ JCANS ST C\‘-‘JW\‘J 7] B S
| e : '
T (F-CRIT “olo 2tsR Bez vie ¢
. " {a) ‘TIree
A ST @ity )
: =
() Write two causes of slow economjc growth
of ) : s 1.e"em‘ffﬁc,’ence R
poverty in Pakistan.
| ferepi
“lifele g1 Ttafew ARwer
Uikl W@W 75y (b) Coal '
PR oy |
A= W27 weftafos
ﬁf% \ﬂﬁ\ Wﬁm %gﬁ‘m Qﬁ wfﬂ
S e |
ifeRermfT '
A e S SRy ey ol —
A ST fe SRR SRy
el

- 96 / ECON [16] 96 / ECON : [17] Contd.




(c) Iron ore

GISACISE
TR OISR
TR
(d) Sea fish
| AR My
TR e (e wrg)
wedienf 1 l |

(i) Write two benefits of forma]
< Sectop e

' MPloymeny
TR 2eq e ﬁ’iﬁ&ﬁ b
RS S P 18 s e
) for
96 / ECON [18)

'(iv) What do you understand by outsourcing ? Write with an

example.
a&sﬁaﬂaﬁqﬁmﬁsﬁ?@mﬁmml
a&z@éﬂ @qmﬁm?@mw CoTe |
TG AT geea = gforl 2 fefefersii fer

(v) What are the types of economic system ? Which economic

system did India adopt after independence ? 1+1=2 -

WWWW@%W%%WTW%WW@W _

[T aizel TR 2

wtafes agE dRe F T2 FTTOR A OO (@ wefafes
I 2 SeafeE ?

Tt EifsR TEe a1 1 ? SSfEf 9 yRgey am gty
@iferEt STSEgHE ?
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(vi) Write two important achievements of India’s' educati
| S : cation

SECtOI';
oA e 4 7 Sy )
f mﬁ*ﬁ@ﬁiﬁ@@_ﬂmmﬂwcﬁﬁl
: .Wﬁ@@wz@%ﬁ%ﬁ%wmmml

(viy) What are the aspects includeq in ‘agricyls
ek : : Ural marketing’
_ =)

process ?

TR R eiferars & 1 i) s

UYE T3 9 ;
ﬁﬁqwmﬁﬁﬁmm@m?

mg‘%'“*ﬁ@rﬁ%mmmf@@ e
' 7
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8. Answer any two of the following questions : 3x2=6
Oeq fAcleal 7h) 2R ©ed [l 2
TR - G5 A TR N 2
: 7 I i
(i) When did the Central Pollution Control Board of India was
established ? Write .two functions of this board. - 1+2=3
ST (FE e e ST enl oon 91 2feE 2 93 siffmw
7o) 1 el |
oA (e gael FEge A T o w9l gl @R AR g7
R (ETea | |
T TH% TSl ST e STOHEE HIs SH™ SIEHE ? 3 syweh
A @i fert
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(i) Match the left and right hand side of the following table :

O OIETER ST B Gitofss Ry o

W@WWWWWM

W%WWWW@WW

1.

96 / ECON

Prime Minister

g

TR

TeTs Af<

Gross Domestic Product

0 (P Sl

G5 (PR Geama

SR TR fegemg

A.

[22)

B.

S i |
eeds that give large proportion of

Outputs

RS St < g

Quant;
, ot 800ds that can be
Mporteq

WWWW@W\%’W
Emﬂﬁmwmﬁamﬁ

96 / ECON

Quota

Land reform measures

O R
G A IR

& WA Tl

[23]

€.

D.

Chairperson of the Planning

Eommission

AT BN TG
Al SR S
frifa e

The money value of all the final

goods and services produced

within the economy in one year

G GLEE b 7% T3 Tesifrs
FRC SN IRRIRCAN AN & (RIS
T4l &7

@ 9ARER 5 ie T3 Sestfre
R S AR T} @ R
mWE

ﬁﬂﬁﬂ@fﬂwmfﬂmﬁyﬁrﬁm
T S SREE SR o 4
T3 WM | .

Contd.




5. . HYV seeds
T TeaAlery 91G
T GeAMTRY 9IE
Tl BERE S
6. Subsidy
qIEAZE]
wife
M g

96 / ECON
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Improvements in the field of
agriculture to Increase itg

PI‘OdUCtivity"

T

@Q‘?{W] Q) =
3 cﬁm;ﬁﬁw FrREI0g e 91

(iii)

Who is ai worker ? Are the following workers — a beggar, a

thief, a smuggler and a gambler ? Why ? 1+2=3

&S T @i TNl (61, (IR FRAIS], SR — G2Ie Efie

271+ 2 Fiae vl |

37 I <012 T, (51, OIS, Qi — @3l & &ifiw 2 el

WS |

I e R g2 ? faernf, faw, o wicif Srem, -

| .é@ﬁ@nﬁwm?a@qﬁ:ﬁm

(iv)

Expléjri the ‘great leap forward campaign’ of China as

initiated in 1958.
1958 5+ b1® 21%¢ F41 T J2& Tivl ST 50 1 41 |

1958 3Aitel Blteia =12el T TR 28 Welife S FHLCHCs 1

@l

1958 AEAEAE HIF1E ASIEAE ‘great leap forward safwaam’ [
g sed |
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9. Answer any two of the following questions -

6x2=12
o g g e
S (F-CICAT! 710 2108 T i ¢
e STAETre A7 QA oy
i \::::tzote on the development pag, LIS oo AT
W,ﬁawmmﬂwwﬂﬁm%ﬂmmm
gt t
W,ﬁﬂﬂﬁimﬁ%’mﬁ@%@mﬂﬁm@ﬁmﬂ .
I, <4, mmt@ﬁqmmmm%ﬂMI
|

(i) Write two differenceg between 1,
m

T A G (ST AL 75 AT T | T T Mo

@ewWW1

@WWWWWW’WIE@WWW

SIEREE

(it))

Discuss the importance of credit for rural development.

| Write three differences between formal and informal sources

96 / ECON | [27]

of rural credit. 3+3=6

SIS BT AT AT SATAISTAITS! SCEIGN F1 | &S AT DI =N
ST S 5! A |

S BAACR Gl AT TGS ST B | SIS AR iR
R SRS SR /5 AL @Al

M AT GRER RRMA THIE) Qe | mi <Rt 39 o) of|
I AAAH HRAT )




(iv) Write short notes on any two of the following : 3+ 3¥6 : (c) Condition of agriculture sector of India at the time of
' ' independence
SR fAicat 7519 KA B9 (Bie el ¢ | ,
ety i ' FIFTOR IS SITed PR ST ST
ﬁﬁtﬁ_ - 7ivF R w<e it T : '. & i
RN TSR T TS FRATE T
(@) Import substitution trade policy
Wﬁ &"l%?@w T : 10. Answer any one of the following questidns i s 8x1=8
. B OeTd Rl <ot 2mid e i 8
SR 2ifege ey i
N @RI G5 AR TEF WS 8
S AT retifiy T

| e SraRasrar @ QiAE fETEE 8l
(b) Role o_f small- : :

(i) What is organic farming ? How does it help in sustainable

ERENOS T Cyisig whiry development ? Write three merits and two limitations of
- organic farming. ‘ : 1+2+5=8
SO wi4ifers '
' ® T8 PR ey
SNICERTNE
| : el i owle 2 92 RO 2T SmEe (FETE L FE?
AR g s
wmwﬁw _ ok R ~aloT OAG!Iret W% 70 Tt e |
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(i1

weie g AwfS 2 R AT T S P wrm <o o
& 3R m@ion Wwaaa.mﬁmmml

fefers Sresn @i AR oy way TERP ¢% B

s e
U e TN SIS B Set gy < A
id? IV GO el
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Wwwméﬁﬂaﬂﬁ@@m@nﬁaﬁ 'r&g‘ﬁaﬁﬁwﬁ
ﬁm@mﬁﬁﬁﬁumﬁmﬁaﬁm’m 7 UTETE <RI SR ITRRT

qrAr?

(iiij) Briefly write about — (a) industrial sector reform (b) financial

-sector reform and (c) tax reform measures undertaken as

part of liberalization policy of economic reforms, 1991.

3+3+2=8

SIRE® 1991 bed WASS FAHAT TBH© THIS e Tiox O] et
T T — () SHIHT AGT IS (b) [T D& FHIT W () T3
eI fRaCE Bee 90 | '

SRS 199 1 FTER WSS FHIER e Suiessl Mo S
ol Sl — (@) STOET 08T FHE (b) DY W FLER =R (c)

T I R0 FLCCe 3901 B |

s 109 1 FeER G R e e T s
forerd ST €1 — (@) SRFERIR TR HST (b) T Tl B e (o)
WA GeFE HiH g2 4 «ed |

X
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